29000 B #l+FH 4

7= miiEA

ME
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
AN BITELE,
BERERIRRFASARS,

BEER
BTEENREN,

M -
- EEEFMAFE 29050

© norelem www.norelem.com



29000 %]+ =FH#F

1
N /
—
e I
—= R
i {o=—
‘ - —_— ‘
! Ny
| K\ \
Ly : R — O &
|
\I-/
1
! < = |
— [

29000-51212 12,1 12,1 20 255 25,5 - |- 43,5 67 23|23 49 M6x20 M6x20
29000-51414 141 14,1 20 255 25,5 -] - 43,5 67 23|23 49 M6x20 M6x20
29000-51515 15,1 15,1 20 255 | 255 | - | - | 435 67 23|23 49 M6x20 M6x20
29000-51616 16,1 16,1 20 255 25,5 - |- 43,5 67 23|23 49 M6x20 M6x20
29000-51818 18,1 18,1 20 255 | 255 | - | - | 435 67 23|23 49 M6x20 M6x20
29000-52014 20,1 14,1 27 40 33 40 | 26 59 84 21|33 65 M8x25 M6x20
29000-52020 20,1 20,1 33 40 40 - - 73 101 33|33 78 M8x25 M8x25
29000-52514 251 14,1 27 40 33 40|26 | 59 84 21|33 65 M8x25 M6x20
29000-52525 25,1 25,1 33 40 40 - |- 73 101 33|33 78 M8x25 M8x25
29000-53014 30,1 14,1 27 40 33 40|26 | 59 84 21|33 65 M8x25 M6x20
29000-53030 30,1 30,1 33 40 40 - |- 73 101 33|33 78 M8x25 M8x25

© norelem www.norelem.com




29000 48]+ = 14

29000-54020 40,17 201 |36 50 40 |52 60 110 40 86,5 M10x30 M8x25
29000-54030 40,17 30,1 |45 65 65 |65|45| 98 1375 | 44|44 1085 M10x30 M10x30
29000-54040 40,17 40,177 |45 60 60 | - | - | 100 137 4040 111 M10x30 M10x30
29000-55030 50,22 30,1 |45 65 65 |65|45| 98 1375 |44 |44 1085 M10x35 M10x35
29000-55050 50,2 50,2 |53 70 70 | - | -] 118 154 [ 4545 128 M10x35 M10x35

© norelem www.norelem.com



